MP Police Previous,Year Paper
Constable 11 Sept, 2023 Shifi 3




55

View Your Responses/ Complain About Question/ View Complained Questions/ Payment /
ot wfciframer o= wrare & g 7 frerad a3 el wer & AT

Roll No.

Candidate Name

Paper Name :[Non-Technical v|

Test Date :09/11/2023

Test Time :Shift - 3

Center

Correct Option selected Wrong Option selected or Not Answered Correct Option

Q.No: 1
A

B
C
D

Q.No: 2

O 0O ©.

Q.No: 3

O 0O w

Q.No: 4

O 0w

Q.No: 5

O 0 w

Q.No: 6

o 0w

Q.No: 7

Under which act was the National Disaster Management Authority established in 20067
National Disaster Management Act-2006
National Disaster Management Act-2007
National Disaster Management Act-2005

National Disaster Management Act-2001

Union Home Minister inaugurated Janganana Bhavan in which city in May 20237
New Delhi

Patna

Chennai

Mumbai

India won its first Hockey world Cup in which year?
1980
1971
1975
1981

Who was the Viceroy of India at the time of the first Factories Act?
Lord Wellesley

Lord Ripon

Lord Dufferin

Lord Harding

Where is the headquarters of Madhya Pradesh Road Development Corporation Ltd (MPRDC) located?
Bhopal

Jabalpur

Ujjain

Indore

What is the total number of women in the winning candidates of 17th Lok Sabha?
71
78
76
75

Which of the following was awarded ‘Best Maintained Tourist Friendly National Park’ under the National Tourism Prize 2006-
07?
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Kanha Tiger Reserve
Pench Tiger Reserve
Satpura Tiger Reserve

Bandhavgarh National Park

Miami Open Men’s tennis title 2023 clinched by which of the following?
Novak Djokovic

Andy Murray

Roger Federer

Daniil Medvedev

Under which act was the National Environment Tribunal established?
Environment Tribunal Act 1997
Environment Tribunal Act 1992
Environment Tribunal Act 1993

Environment Tribunal Act 1995

Q.No: 10 Which of the following is not correctly matched as the winner of Grand Slam Women's Singles held in 2021?

A

B
C
D
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Q.No: 15

US Open - Emma Radukanu
Wimbledon - Ashleigh Barty
Australian Open - Naomi Osaka

French Open - Jennifer Brady

The British formed Central Province in 1861 and the Princely States of
the Central India Agency.

Northern
Western
Eastern

Southern

Tokyo Olympic gold medallist ___
Neeraj Chopra

Sanjeev Kumar

Sanjiv Goenka

Satish Anand

Sahara Desert and Kalahari Desert are located in which continent?
South America

Asia

Africa

North America

In which of the following countries Lalandar dam is located?
Afghanistan

Pakistan

Nepal

Bangladesh

The Wainganga is a tributary of -
Tapti

Yamuna

Madhya Pradesh were governed by

on 22 May 2023 has claimed number one ranking in men's javelin for the first time.
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Ganga

Godavari

In which of the following countries Port of Colombo is located?

Bangladesh
Myanmar
Sri Lanka

Bhutan

Ramlila fair is organized in
February.

Bhopal
Harda
Khandwa

Gwalior

Which ministry has launched the Pradhan Mantri Van Dhan Yojana?

Ministry of Commerce
Ministry of Social Justice
Ministry of Agriculture

Ministry of Tribal Affairs

Where is the Maulana Azad National Institute of Technology located in Madhya Pradesh?

Indore
Bhopal
Gwalior

Jabalpur

Which state declared Mallakhamb as its state sport?
Orissa

Tamilnadu

Kerala

Madhya Pradesh

What is full form of NACO?

National Aids Common Organization
Non Aids Common Organization
National Aids Control Organization

National Aim Control Organization

What is the science of classifying and categorizing organisms called?

Taxonomy
Anatomy
Ecology

Physiology

Why depleting water resources may lead to social conflicts and disputes?

All of the given options is correct.
Polluting rivers
States sharing water

Financial issues

district. This fair is more than 100 years old, which takes place in the month of January-
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Q.No: 24 Tube feet occur in which of the following?

A

B
C
D

Q.No: 25
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Q.No: 30
A

B
C
D

Q.No: 31
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Q.No: 32

Cuttle fish
Cat fish
Tortoise

Starfish

gas is used in the cigarette lighter.
Redon & Indane
Redon
Butane

Indane

Which of the following associations involves a mutualistic relationship between a fungus and a photosynthetic partner?

Lichens
Rhizobium
Algal blooms

Parasitism

On which date was the Stockholm Conference on Human Environment held?
Dec 1990

Aug 1976

June 1972

July 1974

In Convex mirror, if the size of the image is diminished then the position of the image is:

Between infinity and pole (P) of the mirror
Between pole (P) and focus (F), behind the mirror
Between pole (P) and focus (F), in-front of the mirror

At the focus (F), behind the mirror

What is the full form of E.P.A. in terms of Environmental?
Environmental Pollution agency

Environmental Pollution Act

Environmental Prohibition Act

Environmental protection agency

The amount of nitrogen in dry air is
78 percent
48 percent
68 percent

38 percent

Which of the following represents the correct representation of sex chromosomes in males and females?

Males: XX, Females: YY
Males: YY, Females: XX
Males: XX, Females: XY
Males: XY, Females: XX

Which type of cells are responsible for color vision and visual acuity?
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Q.No: 34
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.No: 35

.No: 36

Q.No: 37

Q.No: 38

Cone cells
Rod cells
Bipolar cells

Ganglion cells

Which is the second largest animal phylum?
Aschelminthes

Arthropoda

Mollusca

Annelida

What is the full form of IAU unit?
Inter Astro Union

International Astronomical Unit
International Astrological Uniq

International Astronomical Union

What is the specialized structure formed by the interaction between Rhizobium and plants?

Mycorrhiza
Stolon

Rhizome

If in a certain code, ALMIRAH is written as BNPMWGO, Which would be written as DNRWLUA?

CLOSGOT
TOGCLOS
TOGSOLC
COSGOLT

Which of the following diagram indicates best relation between United Kingdom, Europe and World?

© @“

Choose the Venn diagram from the given options that best represents the relationship among the following classes.

Bird, Parrot, Snake
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Q.No: 42

Find the part which presents those actors who are also singers.

College Students

a
dje]b +— Actors

¢ f
8 le—Singers

b

f

e

a

Identify the class that best represents the Venn-diagram.

Cricketer, Footballer, Bird
Bus, Train, Passenger
Reptiles, Lizard, Lion

Book, Chapter, Letter

In the following question below are given , some statement followed by some conclusion taking the given statement to be
true even if they seem to be at variance from commonly known facts, read all conclusion and then decide which of the
following conclusion logically follow the given statement.

Statement:

All blue are white.

No white is black.
Conclusion:

I. Some blue are black.

I1. All white are blue.

Only conclusion II follow
Only conclusion I follow
Both conclusion follows

None follows

DIRECTIONS: In the given question find the answer figure in which question is embedded.

Questions Figure

U

Answer Figure

KM Y
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figure (d)
figure (b)
figure (c)
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Q.No: 47
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Q.No: 48

figure (a)

Select the odd one out.
FDB
HFD
GEI
KIG

Here are some words translated from artificial language.

teapl hum means Red Pen

pim teapl means Mark Red

gora lant means Green leaf

Which code could mean "Mark Green" in the same language?
teapl lant

hum gora

lant hum

pim gora

A series is given with one word missing choose the correct alternative from the given ones that will complete the series?
Queen, Aqua, Pique, ?

Torque

Quitet

Squad

Quicker

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the following

figures. How would this paper look when unfolded?

Which of the following interchange of signs or numbers will make the given equation correct?
5x(6+3)-10=23

5 and 10

+ and x

+ and -

5and 3

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the following

finnres. How would this naner lank when unfalded?

TP (a)

oy Wz &1 9 &)
FDB
HFD
GEI
KIG

Tg1 NEEIREe v § Sraifed $© v U My

teapl hum &1 31 § Red Pen

pim teapl &1 3 & Mark Red

gora lant &7 31f § Green leaf

I T 7 g 1S BT 314 "Mark Green” 81 W
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hum gora

lant hum

pim gora
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Quicker
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Which is the wrong number in the following number series? o Tem saa # FH-1 9o Tad 82
Q.No: 49

5,6, 25, 23, 125, 96 5,6, 25, 23, 125, 96
A 25 25
B 125 125
C 6 6
D 23 23

Complete the question figure by choosing the best alternative from the answer figure. IW AH T T a9 i Aoed TAHR Uy 3phal
Q.No: 50
A 1 1
B — _J
C r _ L
D I . [

DIRECTIONS: In the following question, choose the answer figure which is embedded in the question figure. e Fuffad oy & & 39 aipld 7 wa B S

Question Figure T Ay
Q.No: 51 Answer Figure S

@ ®) © @ (a) ®) © (@

A (c) (c)
B (a) (a)
C (b) (b)
D (d) (d)



Select the odd one out. fawm wreg &1 9 B

Q.No: 52
MN LO KP JQ IR GT MN LO KP JQ IR GT
A MN MN
B GT GT
C JQ JQ
D KP KP

The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the following @1l & WW P HIeA T HH 3R o 7% 4
figures. How would this paper look when unfolded? T TR T8 IS S fam?

& (S
\\ RAE N
)
[

4 .

- _/

Identify the figure that completes the pattern. I i A ggaH B S T Y R AR B
? ?
Q.No: 54
A
B
C
D
In a certain code language “We are happy” is coded as “du It my” , “Children are going” is coded as “vx my Ir” and “All e Ffdd F18 T # “We are happy” & “du It
Q.No: 55 children are happy” is coded as “mt Ir du my". my” $1S S omar g1
What is the code for ‘children live happy’ in that code language? 3 ®Is U H ‘children live happy’ &I f&a 1
A Ir du mx Ir du mx
B vx Ir du vx Ir du
C gm du du gm du du
D Ir my du Ir my du
Q.No: 56 In how many years will a sum of Rs.800 at 10% per annum compounded semiannually become Rs.926.10 e auf # 800 TUd B AR 10% TIWH T &=

A 1.5 Years 1.5 a8



1.2 Years 1.2 99
1.8 Years 1.8 af
1.6 Years 1.6

Amit salary is 20% less than Bhanu and Bhanu salary is 25% more than Chandan. If the salary of Chandan is Rs 20000 then

Q:No: 57 what is the salary of Amit? ST 1 35 R 9 20% T & R W
A Rs 25000 25000 ¥9Y

B Rs 20000 20000 ¥

c Rs 18000 18000 ¥Ud

D Rs 10000 10000 ¥93

Q.No: 58 What sum of money will amount to Rs. 520 in 5 years and to Rs. 568 in 7 years at simple interest ? RO &I W et ¢wRIRT 5 auf & 520 03 of
A Rs. 220 220 T0

B Rs. 120 120 ¥

c Rs. 400 400 T

D Rs. 570 570 ¥

Q.No: 59 A sum of money triples itself in 12 years at simple interest. Find the rate of interest. TR A9 R TF 4RI 12 F8F § A AT S
A 33.33% 33.33%

B 16.67% 16.67%

C 25% 25%

D 50% 50%

Q.No: 60 If the square of 7 is subtracted from a number N, then result obtained is square of 24. Find the square root of the number N. 3¢ 7 & 3 &I U& &7 N I ger 9Kki g, f

A 26 26

B 24 24

c 28 28

D 25 25

Q.No: 61 What is the value of (tan x — cot x)* - (sec’x + cosec’x)? (tan x — cot x)* - (sec’x + coseclx) &
A -4 -4

B 0 0

C -2 -2

D 4 4

In a year, a shopkeeper manage to sell only 55% of his items. How many items should the shopkeeper own to sell 35970

QNO: 62 oo s vear. TF a9 § TP GPMRR U I F1 Had 55% gl
A 65,400 65,400

B 64,250 64,250

C 65,000 65,000

D 60,000 60,000

Q.No: 63 (bzeiihleiiaygeea;sf gd;:::]ig 5:322?7 years younger than R. Five year hence, the ratio of the ages of P and Ris 5 : 9. What will QPd13 Tﬂfm?" ARRY7 TG BT R 1T
A 45 yr a5 9§

B 42 yr a2 T

Cc 43 yr 43 99

D 38 yr 38 a9

T 13
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Q.No: 65

.No: 66

o
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Q.No: 67

Q.No: 68
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Q.No: 69
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Q.No: 70
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Q.No: 71

Unlike fraction
Proper fraction
Improper fraction

Like fraction

The roots of the quadratic equation 6x? + 77x + 121 = 0 are:
11
1,15
11
-11,-—

11,7

-11, -7

The value of x6 — 6x + 24 at x=-2 is:

-100
76
100

If[{a-V(@* -4 @-D}/ fa+ V@ - D} -+ V(@ -9}/ {a-J(@ -H}]=0,

what is the value of a (a > 0)?

V2
2
3
Vs

If the discriminant of a quadratic polynomial, D > 0, then the polynomial has:
no roots

two real and unequal roots

two real and equal roots

imaginary roots

If 2+39)% = /2 x 16, find the value of (x + ).

A N »~ @0

A Sum of money amounts to 6000 in 5 years and to 10,500 in 8 years at simple interest. The rate of interest per annum is.
24%
35%
26%
25%

Find the wrong term in the given series:
2, 6,12, 18, 30, 42

6

2
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furd IR 6x2 + 77x + 121 =0
11
1,1

11
11,-%

11,7

-11, -7

X6—6x+24 T X =-2 WANT:

-100
76
100
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18 18

D 42 42

How many squares are there in the given figure? feu U anpfa 7 forem o §2
Qo: 72 ) O
A 24 24
B 26 26
C 27 27
D 28 28
Q.No: 73 If day before yesterday was Friday, what will be the third day after the day-after-tomorrow? I T A Iga BT 57 YhaR o, o TS & 91
A Sunday Afaar
B Friday HAR
C Thursday TedR
D Saturday TR

Two positions of the same dice are given. Which letter will be at the bottom if 'O’ is at the top? wF & U ot < Rufe € e §) Al o Isd
Q.No: 74 J L

g N LK s N LK

A M M
B J J
[} N
D

How many circles are there in the given figure? 3w U sipfa # fbem et g2
Q.No: 75
A 24 24
B 23 23
C 21 21
D 20 20

I vy W gd & amafy oof Bt o g }1 o g omufy oof 7 6t 5w

Which two signs and numbers should be interchanged in the following equation to make it correct? Fofifea Tiexu &1 udt Fea & fm 59 @ fgt
Q.No: 76

20-12+8+3x16=-14 20-12+8+3x16=-14
A = and x, 8 and 16 + 3R x, 8 3R 16
B - and x, 12 and 20 - 3R x, 12 3R 20
C + and +, 3 and 20 + 3R +, 3 3R 20
D +and -, 12 and 16 + 3R -, 12 3R 16

IH 99 T qd F smufy oof B o1 gt B1 o g Smafy gt Y ot = et
Q.No: 77 Find the missing term in the following letter-cluster series given below: Fafared SER-TIG Y@en H Jul UG J1d Hifo:
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Q.No: 78
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Q.No: 80
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Q.No: 81
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Q.No: 82
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Q.No: 83
A

B
C
D

Q.No: 84

E16JT, K23PZ, Q30VF, ? , C44HR
W38BL
V37BL
W37BL
W36BL

If in a certain code language ‘REAL’ is written as '121518’, then how will ‘PEN’ be written in that language?
14517
14519
14518
14516

Complete the following series:
17, 34, 102, 408, 2040, ?
3190

6410

12240

7250

If in a certain code language ‘GRADE’ is written as ‘718145’, then how will ‘HAND' be written in that language?
81244
82144
81144
81145

If the day after tomorrow is Friday, what day will third day after the tomorrow be?
Friday

Sunday

Monday

Saturday

Shweta, starting from point P walked straight 10 m west, then turned right and walked 12 m and again turned right and
walked straight 16 m. From there, she walked straight 20m south. At what (shortest) distance is she standing from point P?

10m
12 m
8m

14 m

Among the given options, choose the one which cannot be formed using the letters in the word ‘IMMUNIZATION".
Amount

Munition

Mountain

National

From the given answer figures, select the one in which the question figure is hidden/embedded.

7N

E16JT, K23PZ, Q30VF, ? , C44HR
W38BL
V37BL
W37BL
W36BL

I fdli P He v § 'REAL &1 '121518'
14517
14519
14518
14516

fafarea e o1 g ax:
17, 34, 102, 408, 2040, ?
3190

6410

12240

7250

I T ¥ He uiw § 'GRADE' &1 '718145' |
81244
82144
81144
81145

IfE YT BT o LHaAR €, A Fa & 18 IR o
LPAR
oA
TR
fER

ar g p 3 uftm fo=n & 10m Terclt @ R e g
I9¥ R fig p ¥ 91 &) THaw @ e 82

10 m
12 m
8m

14 m

fou e fawedl # /, SU Wsg 1 TG FX R W=
Amount
Munition
Mountain

National
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Q.No: 85

[ w2 o T - B ]

Q.No: 86
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Q.No: 87
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Q.No: 88
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From the given alternative words, select the word which cannot be formed using the letters of the given word?
CONSULTATION

CONSTANT

STATION

SALUTE

NATION

Which of the following number is divisible by 8?
8108
1188
8420
1032
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When P, Q and R are deployed for a task. P and Q together do 75% of the work and Q and R together do 55% of the work.
Who is least efficient in all of three?

p
Q
R

Data inadequate

What should come in place of question Mark *? in the following number series?

225, 196, 169, 121, 100, 81

125
144
156
136

A man's speed with the current is 30 km/hr and the speed of the current is 10 km/hr. The man's speed against the current
is:

13 km/hr
7 km/hr

17 km/hr
10 km/hr
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225, 196, 169, 121, 100, 81

125
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A truck covers a distance of 550 metres in one minute whereas a bus covers a distance of 33 km in% UF ¢F @& e # 550 Hex Y Al

Q:No: 90 hours. Then, the ratio of their speeds is— ST T )
A 1:4 1:4
B 3:4 3:4
C 2:3 2:3
D 1:3 1:3
I WY W qd F mufy g A o g g
Q.No: 91 :Ic:;l;?can do a piece of work in 45days, with the help of Monu. He can do it in 15days. In what time can the Monu do it m:LEr'J‘T @I@‘iﬁ f w1 Y 45 R )
1
A 211 aps 247 feq
1
B 23%0‘@.‘: 23E a:i
c 25t ags 25;%?

b 2dps 2L o
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Q.No: 92 What is the value of x so that the seven digit number 8439x53 is divisible by 99? x & 59 OF & T I il B 8439x53, I
A 6 6
B 4 4
C 3 3
D 9 9
I 7Y W gd F omufyl <of FY o gt §

Q.No: 93 is divisible by 17 as well as 3. ,17 3R 3 9 faursa B
A 21417 21417
B 12963 12963
C 20520 20520
D 69938 69938
Q.No: 94 :;e;:satgo;s;;r:giias:lr:;kmi’r;rii days. Manju is 75% less efficient than Veena. What is the total number of days Manju &1 e Pt T 42 ﬁtﬁﬁ{{[m%l ﬁT{LﬂTﬂﬂi
A 170 days 170 &=
B 167 days 167 &9
C 166 days 166 faq
D 168 days 168 fa

A ABC ~ AQRP and PQ = 6 cm, QR = 8 cm and PR = 10 cm. If ar(A ABC) : ar( A PQR) = 1 : 4, then AB is equal A ABC~ A QRP 3R PQ = 6 crr
Q.No: 95 to: ¢, dF AB feres aTmaR grem?
A 5cm 5cm
B 3cm 3cm
C 2cm 2cm
D 4 cm 4 cm

What value would come in place of the question mark (?) in the following equation? Fofafad afieo & uyarEs fog (2) F ™A W

Q.No: 96 (23)* x (22)? (82)§+ (22)8= (4)? (23)* x (2%9)?x (82)§+ 225- (.
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2.5
10

A train travelling at 108 km/hr crosses a man in 7 seconds. Calculate train’s length.
210 m
140 m
290 m

145 m

ABCDEF is a cyclic hexagon. Then £A + 2£C + £E is equal to

180°

360°

A wholeseller sells a jacket to a retailer at a profit of 5% and the retailer sells it to a customer at a profit of 10%. If the
customer pays Rs.4,158 for the jacket, then what was the cost price of the jacket for the wholeseller?

Rs.3,300
Rs.3,400
Rs.3,600

Rs.3,500

What should come in place of question mark *?’ in the following number series?

2.5
10

108 faeil/ger 3} I 3 Al & 7 Y H &
210 Hiex
140 Hiex
290 Hiex
145 Hiex

IH Y W qd T amufy ool B o e
ABCDEF UG GhIT UCHIT§| Td 2A + £(

180°
360°
720°
540°

TF 0 fathaT U Sbe 1 e faohal Bl 5% &
1T %.4,158 1 YTAH F=aT §, o i a1 &

Rs.3,300
Rs.3,400
Rs.3,600

Rs.3,500

frafafad uxa & o7 fag (2) & RIF R &1 81

4, 18, 7, 100, 180, 294, 448 © MPESB. Allrights resejvedg, 2, 100, 180, 294, 448
72 72

113 113

71 71

48 48



